Ch. 11 Shifted Conics
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Shifted Ellipses
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NOTE: the ellipse will have vertical orientation if the largest denominator a’

aligns with the y values.

Horizontal orientation since the larg.ést
denominator a’ aligns with the x values,
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Equaﬂnns and Graphs of Parabolas

x* =4pywithp>0 x* =4pywithp <0
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y* =4pxwithp >0 y? = 4pxwithp < 0
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2 foci located on major axis
“c” units from the center

11.2 notes previously added to pink sheet
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y=12—x Asymptotes V= i;x
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2 foci located on transverse axis
“c” units from the center

11.3 notes previously added to pink sheet



Today’s assignment:
11.44%#2,5,7,9, 13, 15
21, 23, 35-410dd

Show work!
Label each part that you identify.

A rough sketch may be helpful
for #35-410dd.
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Don’t solve #3 and 4, just compare
graphs before moving on to #5




Don’t solve #3 and 4, just compare
graphs before moving on to #5

- yA




11445 (| AL

(a) Identify the center vertlces foci pof th @

(b) Determine lengths of the major and minor axes.

(c) Ske\ﬂtch&{graph using a and b values.
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Hints for previous assignment 11.3
37-50 Finding the Equation of a Hyperbola Find an

equation for the h‘yperbola that satisfies the given conditions.

0= —+ b
41. Vertices: (+1,0), asymptotes: y = +5z Eﬁ— —a X
oy | LDW'}AI

43. Vertices: (0,+6), hyperbofa passes through (-5, 9)
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Hints for previous assignment 11.3

37-50 Finding the Equation of a Hyperbola Find an

equation for the hyperbola that satisfies the given conditions.

symptot s:y = Hz, yperbola passes throug
’\y
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